BT T 3 AR R U #HFHK

i il TR29% 28 1BH#
Hh g e 5B x| 85t Hh 35 HEK 5 x| &t
LtEF—TH 769 771| 797) 1,574| [RE=TH 1,291| 1,606] 1,599 3,205
tEFZ-TH 784| 885 883| 1,768 [hEWTH 768]  820[ 939| 1,759
TE—TH 1,763] 1,522 1,805] 3,327| |#EHETH 963| 1,118] 1,136 2,254
TEI=TH 1,503| 1,446| 1,556] 3,002| |[FEATH 839 817| 824 1,641
PEF—TH 785 941 974| 1,915| |B7E—TH 1,136] 1,165( 1,248] 2,413
PEF_TH 505/ 579 594| 1,173| [BE=TH 761]  654| 829| 1,483
FEF=TH 619 808| 839| 1,647 |BE=TH 404 455  474] 929
PEFMETHE 756] 787 894| 1,681| (BpEETH 518| 621 647 1,268
PEFRTH 976] 1,115 1,194 2, 309| [BEHTH 1,015 958| 1,081[ 2,039
TEF—TH 807 981 1,018f 1,999| (LU—TH 1,874 1,624( 1,795] 3,419
TEF=-TH 282| 368 370 738| [MAL=TH 1,458] 1,298| 1,314] 2,612
TEF=TH 139]  144| 133| 277| |(MIL=TH 866 795|900 1,695
TEFWTH 233] 292 305 597 [MME—TH 1,755[ 1,722] 2,098 3,820
TEFRETH 242] 307| 329] 636| [ME=TH 1,605[ 1,603| 1,880 3,483
TE—TH 974 924 851 1,775 (ME=TH 1,497 1,634] 1,698] 3,332
TE-TH 506/ 670 682| 1,352| [#EEE—TH 39 33 33 66
TE=TH 187 252 245 497 |#EE=TH 518] 445 517 962
BENAE—TH 442 556 563| 1,119( |#BE=TH 1,133 1,125] 1,217] 2,342
BAEZTH [ 1,407) 1,160[ 1,271] 2, 431| |FE#Em&st |34, 713|35, 972|38, 52874, 500
BAE=TH 226] 345 348|693
EAEMRTH 25 40 32 12
EBAERTH 576 515 513] 1,028
BAENRTH 221 333 326 659
hE—-TH 848 924 952| 1,816
hE=-TH 692 808] 825[ 1,633 HwEEt 34, 713(35, 972|38, 528174, 500




